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Who launched the 90-day campaign 'Azadi Se Antyodaya Tak'?
(A) Amit Shah

(B) Piyush Goyal

(C) Kiren Rijiju

(D) Giriraj Singh

Correct Answer:: (D)

2. Which country signed agreements on training staff and IT cooperation to deepen railway
cooperation In Sep 20227

(A) Russia-India

(B) Ukraine-Turkey

(C) India-Bangladesh

(D) America-India

Correct Answer:: (C)

3. The “Donbas War” is currently being fought in

(A) Serbia

(B) Ukraine

(C) Syria

(D) Lebanon

Correct Answer:: (B)

4. Pedagogy is the study of

(A) education

(B) learning process

(C) teaching methods

(D) guiding students

Correct Answer:: (C)

5. Dyslexia is associated with

(A) mental disorder

(B) mathematical disorder

(C) reading disorder

(D) behavioral disorder

Correct Answer:: (C)

6. Which government organizations will develop guidelines for the education of gifted children?
(A) NCERT and NCFCS

(B) NCERT and NCTE

(C) NCERT and NTA

(D) NCERT and SCERT

Correct Answer:: (B)

7. What happens when lead nitrate reacts with potassium iodide?
(A) They will not react

(B) Large amount of hydrogen release

(C) Yellow ppt of lead iodide and potassium nitrate will be produced
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(D) Evolution of gas will occur Correct Answer:

(C)

8. Assertion (A): As the speed of the coil in the motor increases, there is reduction in the current
flowing through it. Reason (R): During rotation in an electric motor, some induced current is
produced.

(A) (A) is incorrect and (R) is correct.

(B) (A) is correct and (R) is incorrect.

(C) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(D) Both (A) and (R) are correct but (R) is the correct explanation of (A).

Correct Answer: (A)

9. CASE STUDY Corrosion is the phenomenon of deterioration of surface of metal in presence
of air and moisture. It is a natural process and in the presence of a moist atmosphere,
chemically active metals get corroded. This is an oxidation reaction. Rusting is the process
where iron corrodes due to exposure to the atmosphere. The main circumstance of corrosion
occurs with iron because it is a structural material in construction, bridges, buildings, rail
transport, ships, etc. Aluminium is also an important structural metal, but even aluminium
undergoes oxidation reactions. However, aluminium doesn’t corrode or oxidize as rapidly as its
reactivity suggests. Copper (Cu) corrodes and forms a basic green carbonate. Corrosion is:
(A) a reduction reaction

(B) a redox reaction

(C) a displacement reaction (

D) an oxidation reaction

Correct Answer: (D)

10. What was the aim of Chipko movement?

(A) Human rights

(B) Agricultural expansion

(C) Political rights

(D) Forest conservation

Correct Answer : (D)

11. Assertion : Like Germany, ltaly too had a long history of political fragmentation. Reason :
During the middle of the nineteenth century, Italy was divided into seven States.

(A) If both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A).

(B) If both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of
assertion (A).

(C) Assertion (A) is true but reason (R) is false.

(D)Both assertion (A) and reason (R) are false.

Correct Answer: (A)

12. CASE STUDY: Socially and politically, a landed aristocracy was the dominant class on the
continent. The members of this class were united by a common way of life that cut across
regional divisions. They owned estates in the countryside and also town-houses. They spoke
French for purposes of diplomacy and in high society. Their families were often connected by
ties of marriage. This powerful aristocracy was, however, numerically a small group. The
majority of the population was made up of the peasantry. To the west, the bulk of the land was
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farmed by tenants and small owners, while in Eastern and Central Europe the pattern of
landholding was characterised by vast estates which were cultivated by serfs. Aristocratic class
used to speak French for the purpose of

(A) diplomacy and high society

(B) farming on a big land

(C) unity among the members

(D) educing regional divisions

Correct Answer: A

13. Assertion: The H.C.F. of two numbers is 16 and their product is 3072. Then their L.C.M. =
162. Reason: If a and b are two positive integers, then H.C.F. x L.C.M. =a x b.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

(B) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct explanation of
Assertion (A).

(C) Assertion (A) is true but Reason (R) is false.

(D) Assertion (A) is false but Reason (R) is true.

Correct Answer: (D)

14. A bag contains 24 balls of which x are red, 2x are white and 3x are blue. A ball is selected at
random. What is the probability that it is not red? Options :

(A) 824

(B) 12 24

(C)56

(D) 16 24

Correct Answer: (C) 15.

CASE STUDY Raj and Ajay are very close friends. Both the families decide to go to Ranikhet by
their own cars. Raj’s car travels at a speed of x km/h while Ajay’s car travels 5 km/h faster than
Raj's car. Raj took 4 hours more than Ajay to complete the journey of 400 km. What will be the
distance covered by Ajay’s car in two hours?

(A) 2(x + 5)km

(B) (x = 5)km

(C) 2(x + 10)km

(D) (2x + 5)k

Correct Answer: (A)

16. Which kind of information would you write in the opening part of a formal letter ?

(A)Ask how good the weather is in the recipient’s city.

(B) Inform the recipient why you are writing the letter.

(C) Discussing the recipient if he is hale and hearty.

(D)Discussing how good the weather is in your city.

Correct Answer: (B)

17. Cataract is the major cause of blindness, which is also caused by a damage to the cornea. It
occurs more often in old age. As one starts growing old, the lens of the eye hardens, loses its
transparency and becomes opaque. It obstructs the light rays from entering the eye. The onset
of cataract blurs the vision. Sometimes, the cataract patient sees multiple images instead of a
single object image. Because of the gradual development of cataract, the afflicted person loses
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his/her vision and the world becomes dark to him/her. The development of cataract is a complex
process. However, the following factors can be attributed to its formation. Cataract generally
develops in old age but sometimes, children are born with cataract because of hereditary defect.
Eye injuries too, can cause cataracts. People exposed to sun rays for longer periods develop
cataract earlier than others. Researchers opine that the smoke inhaled while smoking carries
substances internally damaging the eyes. Ultraviolet radiation, invisible to the human eye, is
linked to skin cancer. The victim loses vision and the world becomes dark to him. Which type of
cancer is caused by ultraviolet radiation ?
(A)stomach cancer
(B) liver cancer
(C) Skin cancer
(D)None of these
Correct Answer: (C)
18. SaATIRY Torfer T JTeT aTohd HRAT $TWT hf for@adiate! <TerehdT SITdT?
(A) FITS
(B) T5arely
(C) ergier
(D) Hieh o
Correct Answer: (B) 19.
W 1 e & Fle-aT AT ey 872

A) €T T 38 3R IATY g

B) #4T 9X 89 3R =11 g
(C) SIGT Thed X 39 3R qAT B
(D) =1EY & 39 3R 91T gl
Correct Answer : (D)
CASE STUDY #Rd H gRd=dd I HET 36627 &2l &l WeHTed ATHA H HTcHdAHRH Fellell
T ; W%mﬁmmmaﬁ%zﬁmmﬁmﬁmm%mwm STEITeT
SEHATS o TS Wl H, T5eheh Wl A ST HITSAT ek F glel oI | FARAY AT oh HclTdeleh
TERIoh 3aX8T i 3R RRITRIRT &l T WeATewl- I[UTaHT & TeIT TET 7L ¥ T 3R 22T
aa?ﬁmaswmwmm@rwm%mﬁmmwésm
Iolehleteh STHARIAT o §G & GIHeA 31 IQ & | 7 o Tl 37oe; FAIHSAN ES a%mammrra:
WY YEIAH ST Bld ST I8 & | GIAT TSl &l INTUH-aI AT T ST T 53T X @l 5,
m—cl?,?l?ﬁaaé TS AR T FI T TEY E| 3177 7S 37 3 St Y oY A3 - 9T, IFTaTT
T AR, g AT, geITaTd, Toid¥ 3R wfareil Geaetly gaaaer SIHERIAM, arcaRieT, 3TST2RIET
33T & T 37eE 319 Wb T $voT STARTA 8 TEdT &1 20. TAR—ITS 3T 3R
fRIATRIeRT T YT WIEATew- IUTETT o HelT HeT AL & | TTeATewd- 0T A hisl T ThR HT HAH
g2
(A) 37cTHRNATT GAT
(B) dcqey HATH
(C) eged T
(D) SgsieE HATH
Correct Answer: (B)
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